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1. The area of an isosceles triangle is 

and the length of each one of its equal sides is

60cm2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_yma6ckz2nbqo


13 cm. Find its base.

Watch Video Solution

2. The cost of fencing a circular field at the

rate of Rs. 24 per metre is Rs. 5280. The field is

to be ploughed at the rate of Rs 0.50 per .

Find the cost of ploughing the field (Take

)

Watch Video Solution

m2

π =
22

7

https://dl.doubtnut.com/l/_yma6ckz2nbqo
https://dl.doubtnut.com/l/_gZ8BIYXkABSH


3. The sides of a triangular plot are in the ratio

of 3 : 5 : 7 and its perimeter is 300 m. Find its

area. 

Watch Video Solution

4. A park, in the shape of a quadrilateral ABCD

has , AB = 9 m, BC = 12 m, CD = 5 m

and AD = 8 m. How much area does it occupy ? 

∠C = 90∘

https://dl.doubtnut.com/l/_Vkp4h4Z88Qxi
https://dl.doubtnut.com/l/_JjeP8XRaEwJ8


SKILL TESTING EXERCISE

Watch Video Solution

1.  is an equilateral triangle. If PQ = 10

cm. Find the area of  using Heron's

formula.

Watch Video Solution

ΔPQR

ΔPQR

2. The measurements of the sides of a triangle

are 20 cm, 30 cm and 40 cm. Find the area of

https://dl.doubtnut.com/l/_JjeP8XRaEwJ8
https://dl.doubtnut.com/l/_siPcAEYGl9Jv
https://dl.doubtnut.com/l/_XbyLpCVjTF5b


this triangle.

Watch Video Solution

3. The perimeter of an equilateral triangle is

54 cm. Find its area using Heron's formula.

Watch Video Solution

4. The ratio of the measures of three sides of a

triangle is 4 : 2 : 3 and its perimeter is 36 cm.

Find the area of this triangle.

https://dl.doubtnut.com/l/_XbyLpCVjTF5b
https://dl.doubtnut.com/l/_ds8X0vE6CFNq
https://dl.doubtnut.com/l/_ueYb3MkIK3JX


Watch Video Solution

5. The shape of a field is an isosceles triangle.

The length of two equal sides of the field is 30

m and the length of the third side is 20 m.

Find its area.

Watch Video Solution

6. The ratio of the lengths of sies of a triangle

is 13 : 14 : 15 and its perimeter is 84 cm. Find

https://dl.doubtnut.com/l/_ueYb3MkIK3JX
https://dl.doubtnut.com/l/_iQgfOZaiXdXR
https://dl.doubtnut.com/l/_Vhjb4AxRktdi


its area.

Watch Video Solution

7. In , AB = 20 cm, BC = 21 cm and the

perimeter of  = 70 cm. Find the area of 

 using Heron's formula.

Watch Video Solution

ΔABC

ΔABC

ΔABC

8. In quadrilateral PQRS, PQ = 3 cm, QR = 4 cm,

RS = 8 cm, SP = 7 cm and PR = 5 cm. Find the

https://dl.doubtnut.com/l/_Vhjb4AxRktdi
https://dl.doubtnut.com/l/_T6bN2pR4w9Nl
https://dl.doubtnut.com/l/_HbpBKd64PxLa


area of quadrilateral PQRS.

Watch Video Solution

9. In a parallelogram, two adjacent sides

measure 51 cm and 35 cm. One of its diagonals

measures 20 cm. Find the area of the

parallelogram.

Watch Video Solution

https://dl.doubtnut.com/l/_HbpBKd64PxLa
https://dl.doubtnut.com/l/_ars7n9QnwUWp


10. The perimeter of a rhombus is 144 cm and

one of its diagonals measures 48 cm. Find the

area of the rhombus.

Watch Video Solution

11. In quadrilateral ABCD, AB = 9 cm, BC = 12 cm,

CD = 8.5 cm, DA = 8.5 cm and AC = 15 cm. Find

the area of quadrilateral ABCD.

Watch Video Solution

https://dl.doubtnut.com/l/_mAiI4nQo4ajC
https://dl.doubtnut.com/l/_2eB7r4WXv0QH
https://dl.doubtnut.com/l/_mtCdcWygsYR1


EXERCISE 12.1

12. In a parallelogram, two adjacent sides

measure 9 cm and 10 cm. One of its diagonals

measures 17 cm. Find the area of the

parallelogram.

Watch Video Solution

1. A traffic signal board, indicating 'SCHOOL

AHEAD', is an equilateral triangle with side 'a'.

Find the area of the signal board, using

https://dl.doubtnut.com/l/_mtCdcWygsYR1
https://dl.doubtnut.com/l/_Xocqi54bakdN


Heron's formula. If its perimeter is 180 cm,

what will be the area of the signal board ?

Watch Video Solution

2. There is a slide in a park. One of its side

walls has been painted in some colour with a

message "KEEP THE PARK GREEN AND CLEAN"

(see the given figure). If the sides of the wall

are 15 m, 11 m and 6 m, find the area painted in

colour. 

https://dl.doubtnut.com/l/_Xocqi54bakdN
https://dl.doubtnut.com/l/_olHWx3qdX4Bt


Watch Video Solution

3. Find the area of a triangle two sides of

which are 18 cm and 10 cm and the perimeter

is 42 cm.

Watch Video Solution

4. Sides of a triangle are in the ratio of 12 : 17 :

25 and its perimeter is 540 cm. Find its area.

Watch Video Solution

https://dl.doubtnut.com/l/_olHWx3qdX4Bt
https://dl.doubtnut.com/l/_pwb9NPtB0jgS
https://dl.doubtnut.com/l/_rXz7ENy6DaMT


EXERCISE 12.2

5. An isosceles triangle has perimeter 30 cm

and each of the equal sides is 12 cm. Find the

area of the triangle.

Watch Video Solution

1. A park, in the shape of a quadrilateral ABCD

has , AB = 9 m, BC = 12 m, CD = 5 m∠C = 90∘

https://dl.doubtnut.com/l/_jaUvcomobyXH
https://dl.doubtnut.com/l/_kLDACWAoQ2Ul


and AD = 8 m. How much area does it occupy ? 

Watch Video Solution

2. A triangle and a parallelogram have the

same base and the same area. If the sides of

the triangle are 26 cm, 28 cm and 30 cm, and

the parallelogram stands on the base 28 cm,

find the height of the parallelogram.

Watch Video Solution

https://dl.doubtnut.com/l/_kLDACWAoQ2Ul
https://dl.doubtnut.com/l/_9xMxRvDk9lus
https://dl.doubtnut.com/l/_9lyWPRw6zGVM


MULTIPLE CHOICE QUESTIONS

3. A rhombus shaped field has green grass for

18 cows to graze. If each side of the rhombus

is 30 m and its longer diagonal is 48 m, how

much area of grass field will each cow be

getting ? 

Watch Video Solution

https://dl.doubtnut.com/l/_9lyWPRw6zGVM


1. The sides of a triangle m easure 8 cm, 12 cm

and 6 cm. Then, the sem iperim eter of the

triangle is ..........cm.

A. 26

B. 52

C. 13

D. 6.5

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_HvzYZVn7m4nT


2. Each side of an equilateral triangle

measures 8 cm. Then, the semiperimeter of the

triangle is ……………… cm.

A. 4

B. 24

C. 12

D. 36

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_HCwTY5qf7CxZ


3. In a right angled triangle, the length of the

hypotenuse is 15 cm and one of the sides

forming right angle is 9 cm. Then, the

semiperimeter of the triangle is …………..cm.

A. 36

B. 18

C. 12

D. 15

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_mIYQHMYq38Wn


4. The ratio of the measures of the sides of a

triangle is 3 : 4 : 5. If the semiperimeter of the

triangle is 36 cm, the measure of the longest

side of the triangle is …………..cm.

A. 12

B. 15

C. 20

D. 30

https://dl.doubtnut.com/l/_mIYQHMYq38Wn
https://dl.doubtnut.com/l/_hya6KZttwnas


Answer: D

Watch Video Solution

5. The area of a triangle is 48  and one of

its sides measures 12 cm. Then, the length of

the altitude corresponding to this side is

…………….cm.

A. 4

B. 8

C. 16

cm2

https://dl.doubtnut.com/l/_hya6KZttwnas
https://dl.doubtnut.com/l/_yR8iodD3lvtx


D. 6

Answer: B

Watch Video Solution

6. The sides of a triangle measure 12 cm, 17 cm

and 25 cm. Then, the area of the triangle is

……………. .

A. 54

B. 90

cm2

https://dl.doubtnut.com/l/_yR8iodD3lvtx
https://dl.doubtnut.com/l/_tGFxNxi6s7Xo


C. 180

D. 135

Answer: B

Watch Video Solution

7. Two sides of a triangle measure 9 cm and 10

cm. If the perimeter of the triangle is 36 cm,

then its area is …………..

A. 17

cm2

https://dl.doubtnut.com/l/_tGFxNxi6s7Xo
https://dl.doubtnut.com/l/_5RbrHPWK0snY


B. 36

C. 72

D. 18

Answer: B

Watch Video Solution

8. The area of an equilateral triangle with each

side measuring 10 cm is ………….

A. 

cm2

5√3

2

https://dl.doubtnut.com/l/_5RbrHPWK0snY
https://dl.doubtnut.com/l/_Jul6WHC2u4t1


B. 

C. 

D. 

Answer: B

Watch Video Solution

25√3

5√3

3√5

9.  is an isosceles triangle in which BC =

8 cm and AB = AC = 5 cm. Then, area of

.

ΔABC

ΔABC = ……………. cm2

https://dl.doubtnut.com/l/_Jul6WHC2u4t1
https://dl.doubtnut.com/l/_WMVY5ROhuvSK


A. 6

B. 12

C. 18

D. 24

Answer: B

Watch Video Solution

10. ABCD is a parallelogram. If ar (ABC) = 18

, then are (ABCD) = …………….. cm2 cm2

https://dl.doubtnut.com/l/_WMVY5ROhuvSK
https://dl.doubtnut.com/l/_B4Cwf3ss4aHE


A. 18

B. 9

C. 36

D. 27

Answer: C

Watch Video Solution

11. In  AB = 9 cm, BC = 12 cm and AC = 15

cm. BM is an altitude on AC. Then, BM = ……………

cm.

ΔABC

https://dl.doubtnut.com/l/_B4Cwf3ss4aHE
https://dl.doubtnut.com/l/_iZM2prug2HSK


A. 3.6

B. 7.2

C. 7.5

D. 6

Answer: B

Watch Video Solution

12. In quadrilateral ABCD, AC = 10 cm. BM and

DN are altitudes on AC from B and D

https://dl.doubtnut.com/l/_iZM2prug2HSK
https://dl.doubtnut.com/l/_uoCVK4HZ5shr


respectively. If BM = 12 cm and DN = 4 cm, then

ar (ABCD) = …………….. .

A. 160

B. 80

C. 320

D. 480

Answer: B

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_uoCVK4HZ5shr


13. The perimeter of rhombus ABCD is 40 cm

and BD = 16 cm. Then, ar (ABCD) = …………… .

A. 96

B. 48

C. 24

D. 72

Answer: A

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_TeqzLctZXD9c
https://dl.doubtnut.com/l/_OMaeQBvAY1Os


14. The area of a rhombus is 72  and one

of its diagonals measures 16 cm. Then, the

length of the other diagonal is ……………cm.

A. 12

B. 9

C. 18

D. 15

Answer: B

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_OMaeQBvAY1Os
https://dl.doubtnut.com/l/_CrjefRZ8vR5g


15. PQRS is a square. If PQ = 10 cm, then PR =

…………… cm.

A. 10

B. 20

C. 

D. 

Answer: C

Watch Video Solution

10√2

2√10

https://dl.doubtnut.com/l/_CrjefRZ8vR5g

